B (EHETASL = dmn
W A B &) t=tln |

EEHER

S5 EE

5=1:250
MEIERL=98m

SR
L=106. fom
EENRI0E EEBIRI0E
L=35. 50m =45, 50m
HEEHERIO UL
e Lol 2 = 5
L=6. 1n o z iz o o
o - - = =
o = é = = \i\% \\ ;
b L|
5 85 (& b
B EHETADL) t= do % . \\ N0, 4417, 8
WS M BB A = 1L \
FREE 8 2 B B t=ile \ V\\ /
‘\\ \<
5. 69
| ‘ \ \ / \
)
™~ 5 ?
ﬁ O\ \
A \
. | \om ¥ ‘
i A Y s ‘\
o8 Vo
I';JE § H 567 \ \"\ f ‘I\.
iR = \(;3; KB :? H=5.571
BE T - A P |
e s b} \
‘ [ B8 k[
| \
? h 5. A2
R H ) NO. 446, 1
e B ] 570 \
= ®mE @ "
i: g; gé o - '__‘m_e'm_._:'_l-s
n &5 oy 3 \
" = |~ |
i - I ] 1 1
¥ &, EEs (TF)
& :
QY. BP-1.8 S —
- I % 1
nELE & _
§ = BP-3.8 e .
490 \BREMT |
fE |
> |
Eflg (3cF)
5 O ‘. - ot
=t} — —_
- =+ =
g g 2 9
bE
= | RERES0RAIE  HEERRS00E
zﬁjimsi:f By L=9. 50m [=3. om
Ea e VS
L=, 50m BB TO Y H—FEL—i L=16m
L=4, 20m Gr-0-4E
FHAE
L=106. 90m
| +
T b
& g
- _ mm—— 3
~ e
H=0.77m L=101. 60m

MhEmFE IO S

L=33. Tom

N
HAEQER
R & XEERZ YEEZ
TA -142870. 947 -68577. 675
T -142903. 266 -68574. 522
T -142897. 020 -68532. 436
T3 -142892. 243 —68491. 047
T4 -142878. 096 —68476. 846
L REEAR
" & XEER YEER
-3.8 -142898. 617 -68575. 379
BP -142898. 083 -68571. 617
NO.0+10.0 -142896. 678 -68561. 716
NO. 1 -142895. 273 -68551. 815
NO.1+4.0 -142894. 711 -68547. 855
NO. 1+10.0 -142893. 868 -68541.915
NO. 1+16.0 -142893. 025 -68535. 974
NO. 2 —142892. 463 -68532. 014
NO.3 -142889. 653 -68512. 212
NO. 4 -142886. 842 -68492. 411
NO. 4+5.5 -142886. 070 -68486. 965
NO. 4+10.0 -142885. 437 -68482.510
NO. 4+17.8 -142884. 341 -68474.787

Wb E&EKREFH

T 4 | SHBEE BEER (R EBEEIE
T E REES
THEA | WEEEABHT BS BN
B TEE

i R $=1:250

ERE e S 10 E 1 k52




H=1:100 L=1:250

/5,
i BT (]

EEBRR

i

1:100

S=

5.00

2.00

2.00

t= 4om
Tem
10cm

t
t

B (BHE7Z3Y)

%

EEE R

LERE (i

A)

TREBE (9

= dem
10cm

t
t

B (BHE7ZaY)

E

& A B &) t=

BET

4
En g
1L
te | = o | B 3
WIE|2 Flaln
= | I 2 [ S
kg (% EIE IS,
R #
= o
.m.m. faK £ bl \n
fu | I e
4 10 =
pil P
0| & ”
=3
¢ 4
-~
Sl s lE| B ¥
a | &
= - E L
gl ® | & =
H &€l H B # X
500 5+ \38.? ¥5°G Hooo [Hrss Hoos Hosue  MHosw | sus [
-
g
P — Hezo Hevs Hus  Hooos  Hosv | oo H
505 T
—_— 850 Hevs  Hiev  Hosse  Hoss H gg
Tom = Hewo Hiws Hews Hoos  Hooz H vov H
Tom = Hezo Hezs  Hes  Hooos  Hoozo H sov H
)
>
I_ 7
i £
2
& 5
H |
=
2 7\ &
S
i
0 e Hooo Hos  Hos  Hooor  Hoow | zov [
=
= 7
4 Lo 90 - Hos  Hiwv  Hoose  Hoos  H ool
;om = g0 | Heos  Hocw  Hoooe  Hooo  H ool
: a0 M Hes : : oy H owe H
T 86y L oW 00 ¥ o
T o Hes v Heew ooz Hooor [ LoN |
?om - slo [ Hiev  Heew oo Hooor H ook |
ﬁam &
8
1 S
T e Heoo Hosv Hesvw Hooo  Hooo | <8 H
£09 0+ ] %090~ wy) Hoo H Hiev o Heew  Hose-  Hose- H se- N
-
oo
Hooje
8 8 001 : | 8|l = F + L= = i - B 23
S = o =
o 1 [E2) i Eid
= o
- &7 2] & £ [ EX L [:4 i




DL=5. 00

DL=5.00

DL=5.00

+10.0
6H=4.72
FH=4.87

8Pe10.0 #® i+
PILCEL] FEEE
Blr—oms| 10 |T|aEss
g 2 | vr || mEEm| o
e tfue
REEE At )
wmamea| os [ereerms] 24
B [1zmo, w1
[was| oz | s ins)
2 55K R (Co)
4050
WS il
2 5N THREE 500
4.0=0 AR
HrtEt
M =R 500 BP
& | Eme 6.0 LR Ghi=4. B5
T vmwa | 5o | vewss Fh=s. B0
51
b 4.20 0. 86 2.35 | 200 L'|I i) 242
0, 20% 0. 94; B o
&P ® @ T |:”
| e o | EEeR | - [
Ble-zoww| 26 || amem
o | M2 - | EEER =
B # w22 I
BHEE AT (L)
1 (W11 wza = AR () =
B [1zmat mzar
WS AWM (As)
2 620 AR (Co)
[e.0z0
[ -
2 52N FREE 57
[+.050 WAL
HrEL
=R I 5.71
]
# | tmmm 571 E R -3.8
*[Fama | s TFHm= Gh=4, 75
FH=4.77
14. B1
3.16 5.08 3.63 294
0.60% 0. 60%
BP-3.8
MECET -
Blr-omm| 28
&[] %2 - -
B |#] w22
HERE F571227Y- (9)1)
g | W<t <1 - |pawran| -
L ERAT
W<2.5 - SHERIER (As)
2. 554 FEERIER (Co)
P IXET
2.5 -
* 2. 52N FREEE 14.81
4.0=W itk IR
Bt
5 2B T 14.81
| bmmam 14.81 LRt
T vmms | us | vemac

R 2-1

S=1:100

+10.0
6H=4.70
FH=5.03

DL=5. 00 —_— 9_ DL=5. 00
10,00
% 1l JE—
] |
NO. 1+10.0 # i+
| A9EE o | EEER | -
Blr-zvmm| o7 |*|zaks
glw| W2 | 05 |g|mmER| 10 No.2 % & T W2 & @ t
B H] w22 A | KeEE o] REEE | - FECCD IREECIE
LERE - () Blr—voem| - |t zags Blt-soew| 313 |E)| zERE
glicma] o3 [omwran| 24 o | K2 - m| AEER | 23 MM 08 || e -
R 1=ma,wa # “‘ w=2 S LT N
W<2.5 0.5 FERIER (As) EEEE FAURY)- (1) EBRETE # {
2.55WK4) S RER (Co) 1 | W<, W2<1 - FoitaR7)- (1) 3.3 g | M1 w2l 0.3 .J'm'»\w—cgi-_: =
PR B [1=ma,na B [izmama
+|® W<2.5 0.9 W<2.5 1.2 SRR (As) LS SRR (A
2.5 THERE 5.00 2. 5204 R (Co) 2520 FE MR (o)
® 4.0=W ik & 4.0=W & 14 [
Bt wes| 27 W25 -
4.0 =R 500 * b
MELEINT) +: < FEEBE g 5 FHWRET 500
% LEmE 5.00 L@t GH=4. 82 4.0=W KR i a.0z=8 FRnERE
TR#E 5.00 TS FH=4.98 Bt okt )
& 2ET 5.00 0 LR 500
% | LtEma 5.00 Bt | tEEs 500 L
B TR 5.00 TRESE- = FREH 500 TRES=
DL=5. 00 —_ JI— DL=5. 00
NO. 1+4.0 & A t+ L NO. 1+16.0 & @t NO. 1+16.0 # it
| A9EE o | EEER | - MECLT o | EEER | - | A9EE o | EEER | -
Blr-zogm| 10 || zake Blp-somm] 06 | t|amRE Blt-somm] - |*[zmgm
glw| W2 | o5 |g|amER | 1o wlw[ W2 | o5 |u|mmER | wlwl W2 | o1 gl mmEn | 1
B ] =2 &z B # [z e IR =z
AEEE #7132 (515) EEEE 27 (1) EEEE 1R (515)
g o3 |eian-an)| 24 [N 03 |wipa-@n)| 24 g | W<t <1 - |pmwran| 24
B |1 ma B |1=wama B |1=<mc ma
W<2.5 0.3 FEERIER (As) W<2.5 0.7 SERIR (As) W<2.5 1.1 FEERIIR (As)
2,554 iR ER (Co) 2.55N<4 FHEFIM (Co) 2. 554 iR ER (Co)
P STEET] PTCET] R EEET]
W2.5| 05 wes| 14 Wwes| 23
=15 e FHEE 5.00 1 e FEEE 5.00 =15 e FHEE 5.00
4.0=W KR % 4.0=W KIS 4.0=W K EHE
ot st Bt
MELEINT) NO. 1 MELEINT MELEINT)
% LR 5.00 LRt GH=4.78 % LR 5.00 LRS- % LR 5.00 LR
FREEE | 500 TRt FH=4.95 TS | 5.00 TRt TEmE | 500 TRHS
DL=5. 00 _
NO. 1 # @+
MEELT o | EER | -
Bly—somm| o090 |T|zEgm
wlw] W2 | o5 o] zEER | oo
B | w22 HEE
HERE F57127Y- (91 1)
g|mamal o3 |eioran| 24
L ER
& W<2.5 0.3 SRR (As)
& 2.5 FEERIER (Co)
P XET]
W2s| o4
ST FEBE 5.00
4.0=W ik
Bt
5 xEI 5.00
% | Lmma 5.00 LRt
T vmme | so | vemme

+16.0

GH=d4. 41
FH=5. 07

Ws E&EKXREM

Lo o4 | T5EE ERES () EBREEIE
?%f 4 mit EEAH
THEER | WhERABH BE MK
(BT

i R

ERE e S 10 E 3 k52




3.02

+5.5
Gh=4. 87
Fi=5, 45

DL=5.00
O #+5.5 # & t+ W.4-5.5
i | WEEM o | EEER - o | waEM | EEE I'
Blr—oge| - [X|zEsE Bl cown| 27 |t zEEm
& || 02 - || mmmE | glw| "2 | en || mmER | 0
By tms 8| yz2 Hm=
ENEE LRI (A EmEE }
S N S g [mamal ez |emarwn| s
B (1nia, nzc R [1zma, v
WL5| 0w R (hs) W15 - I (A
2550 TAFEMI (o) 25584 AEHR o)
4,020 4020
.‘(! 5 22 .'ﬂ(i 5 -
2 5504 FREE | sm 2.5 | FmaE | in
o= L s
#AEt st
Ewrl s | LS T
E rEEg | s Rt ) cmEH | 5w LR
T rmam | s R Frmmn | 5w FREE L
NO. 4
DL=5. 00 —
M. 4
| EaERl gl AEwE | -
L R E A YT )
* w2 06 | EEEE 1.5
i vz | tas
EERE sttart- £
gmama] o1 [sranmn] o
B [izpica, nrn
'K ¥as| 02 R (hs)
i 2 52hd TR (Ga)
gl [40SK
18 (13
pEd | TRSE [ oo
405K 1
| mrEt
EWI| hw
®
| cmmm | noo LRt NO. 3
T rmne | 5w T G5, 48
FH=5.25
3.02 2.66
7
. S b
DL=5. 00 =SS g iisey 60—
LT
t U
-
W3 = a |
| FaERl METCT
i —vomm| 23|I aEsm
x| L [ o | ETEE =
i vz | taz
SERE star- e
gmama] o3 [eranan| -
B fyzmio, nen]
%25 — BREMEL (As)
| R (o)
(X ET)
o m s
i 5nce FTREE s
s oza| AT
wrigt
M EWI| W
% Emmm | 5o et
T rmne | aw | reme

e 2-2

S=1:100

+17.8
BH=5. 60
FH=5. 54

O 4+17.8 # d@ t
PIECCL | mEER
Bt suem| 28 |T[aEem
glw| M| o |g| smER
S I w=
EMEE -
@ | W10 W2 a1 (e
R (1w v
W5 - I (s
0520 TREHIAR (o)
& 4. 0=W
W5 =
12 b FMEE | e
4. 030 WRDREE
st
ML EIET -
g LEEE 15,62 L
ERES | 126 | FHSE-
DL=5. 00
[
| R -
e | I smEm
o4 o | EEER L1
Tl usx
ST Ferant- (9Ll
g Mama | as eser-ms| 2
LAEnTC
WLE - SRR (As)
£ 5 I (Lo
P T
+le WS
L TREE 500
= oz
HrtEE
M =R 500
HE I e
* TR 500 TRt

+10.0
GH=E. 77
FH=E. 48

W EEKREFEN

LW & | $I0EE EEBH (FW) EBRETH
Ak hiE EE@E

% wWesEBRAHET BE R
[ENTRIE- R 2-2

i R $=1:100

By |4 10 % & 4 #




\ . C S=1:10 .
(HEETAD)  S=1:20 " $=1:20
520 w0 570 150
E 150 - 489
’- L TR 339 150
. BuE 75 ‘
= (600 % 600
o of | r A N — =
M ] BE LSS 3 E 5 It
R - &) &
i s - g | __ e
4 736 L] == ==
L 30| L ERBE g8 g g 2 300 S| o
560 200 — 5
BEMM0E RFR) HUHER 0004y HMEBRIOvY  HHERES 10.00m2 Y | 8 E |
o
% ko R 3 5 A % = B % fad bk o5 A ® =2 B g = =
[ i ke A 300 x 300 x 2000 10.00 m HEERIOVY ciE L=600 10.00 m -
BERE BERE %
ERRA t=10cm 0.56x 10.00 5. 60 m2 ERRA t=10cm 0.20x 10. 00 2.00 m2 900 -
150 600 150 _ _
BELZL 1:3 0.02x0.36x10.00 0.07 m3 EEEE 0.20x10. 00 2.00 m2 AZSEM T [EEEDE S
= IR 3007 L2500 10.00 ® g [ | & B f,l % #oE B OE | B
= —— . I i T e £ w # e 1.10x1.10 = 1.210 = 1.21 121 | m
EEEE 0.56x 10. 00 5. 60 m2 AOTFIUORTDI) — o . B8 i SR
G2 & 300 2 7 " 0.90 x 0. 57 x 4+0. 60 x 0. 489 x 4+0. 30 x 0. 15 x 6-0. 30 x 0. 30 x 4 =3.136 = 3.14 3.14 m2
mtE S=1:20 u avsy—+t ock=18N/m2 | 0.90x0.90x0.57-(0. 735 x 0. 735 x 0. 081+0. 60 x 0. 60 x 0. 339+0. 30 0. 30 0. 15x2) = 0.269 = 0.27 0.27
= m3
3 | | B oW B T-25 (600x600F8 69.2kg) AL RER 1.0 #
SEEERIOVY EEEE 1.10x1.10 =1.210 = 1.21 1.21 m2
BIHER AR T
S$=1:20 1100
A—FL—JL (x5 H)
1000
550 450 FEEm EAEE S=1/30 ErmR  S=1/20
180 -
[
. 140
o o & (@ L o L NN s W20x145
= ‘ P _—._8\_3 35
N i S 500 4000 4000 500 7 !
H | NN BEL R (12D AUTFFURTY—  HEHER 10. 00m224 Y 2 =
Nl NEERE _330_ i
£ ka3 bSkic] it g = B g B 200 2
= L=k, 3x350x4330 g
avyy—=+ o ck=18N/mm2 10.00x0. 07 0.70 m3 | b l
SEEBRTOvY BHE HRE HEHER 10.00n% " =1 e
B # # t=10mm 1.00x0. 07 0.07 m2 L { = { Ay v | —
& o) Hoo® st B B | B ' g
R1{HER =
SEERER IOV LB L=1000 10. 00 m
BERE Tl 367 Y 6114.3x45
EBEE =10cm 0.30x 10. 00 3.00 m2 &':L% g
1300 -
BELEIL 1:3 0.01x0.21x10.00 0.02 m3 50, 1000 154 3
‘ S — S$=1/10 #HME—L S=1/15 o
EEEE 0.30x 10. 00 3.00 m2 ‘ ‘ N _E-4 S/10 /D
N
g ! 0 2
& 2 (22340} (18x24) 2 8 @ &
£ H e ! I ey ! K8 p / @114, 3¢4, 552100
"y i — 8 ]
‘ = = — B =) = = ) ‘ 500 160 44 IS4y b S=1/8
iﬁﬁiﬁﬁj Y = = = - | 8 ase)
h 3| L : {22528) (22450}
-’Iﬁﬁ%knﬂ g g g 2 § 8]— 5 g g = = = = 7S ] Lb o — A ,—’—
S=1:10 2 2 | S oo -] r:]_ . 2 2 | r r ) ;_;l % EI
T
L — = - W
= L 30 ~— ]
. g g L 1 4000 160 200 30
o —A L 2 ) 4330 ) KT
e I 2 &
Ea (3 2
g ‘.x:“"x_‘ BELFILD Ei g ‘\M =
e £ S b SR - s +EK = ): ::’
| - ~_ EBRRE - 7547y FERFAARL L S=1/5 E—-LEfFARILE S$=1/5 B
L om 50 15 1000 o M20x145 N16x35
1150 150 52
3 g© = 3 e g
STEHRTIO VY SERAH  HEHEE 10.00n24 Y (@ I § E—— 158 B3 O3 = (& [=23 {4 Wb ESBREKHE™
L_| 500 o
3 35
R L LI .S o2 | B s g Ej k 15 JE Q H Q % EMZ H ok o4 | HHBEE EREE (BH) EBESIE
EE T
SEHBRIO Yy | HERAM | L=600 10.00 n = L - ‘
BERE ﬁ BESEMT 1 s Y R w0 iE FERAK
ERRA t=10cm 0.28x10.00 2.80 m2 a4 P P— p— w5 | uo
g i i E ® it T. % fi 77 WHEZBEAEHT BS #N
BELEL 1:3 0.01x0. 23 10.00 0.02 m3 I I — = @ o BERE ] BAHT RS
0 1300 00 t=I5¢m 1.10x1.10 = 2250 =22 226 | m — o
EEEE 0.28x10.00 2.80 m2 L 1.15x 1. 30 X 8+0. 15X 0. 50 5+0. 15 0. 63 x 2- (0. 50 x 0. 50 x 2+ s HOK TR
B # # #H 11.09 m2
0.50x0. 63 x2+0. 50 x0. 30 x2) = 11.094 = 11.09 fE R %%’QE‘E‘
. 1.30%1.30% 1. 15-(1.00 1. 00 1. 00+0. 50 x 0. 50 X 0. 15+ -
avoy- k=18N/mm2 3 5 P i B
o " 0.50x0.63x0. 15+0. 50 x 0. 30 x 0. 15) =0.836 = 0.84 " Wi 7 | 4 10 - 5 7
EEEE 1.50x1.50 = 2250 = 2.25 2.25 | m




FISREERET
L=15. 00m

FE1SEEERET

8

$=1:100
-3.8

GH=4.75

FH=4.77

TEMREZR 3008

0. 60

2

1210

630

0.6

Bl

0.3

BP-3.8
3 2= /|13 ] =
ZEEIES00E mRE
500 S$=1:20
IS HRIRET —RHE
En| & 7 # ® B 8 | B g
PR YE 0.6x10.0 =6.0 6.0 m3
18 =3 0.3x10.0 =3.0 3.0 m3 o
% + 6.0-3.0 =30 3.0 m3 f
IO(J‘_ 560 ‘10
760
HEABO00E  ARE  HHEAER 10.00m24 Y
& # bsikics i 5 R ¥ = B
[ 1K B 500 x 500 x 2000 10.00 m
BERE
ERRE t=10cm 0.76% 10. 00 7.60 2
HELEIL 1:3 0.02x 0. 56 x 10. 00 0.1 m3
‘ HEEE 0.76x 10. 00 7.60 m2
‘ “\Ft4, 35
e ez S| e ez S|
HTE SR 3005 HEMTRE 5008
S=1:20 S$=1:20
686
417 500
300
g g BELSL
S L T SRS
% proS——
\\\"-. EiEILH b : .
1od 500 100
700
HITREES00R! #MHEtHEE 10. 00m4 Y HEITREEO00%! #HEEE 10. 00m4 Y
B m4 L B m L L\ 5 % $ * E]?, I_'E
IR i HoE = W B B & i HoE = g B ]
T 4| SH5FE REBE (R EREEIE
® i 300x300% 2000 432kg 10.00 m Bk 500 500 % 2000 1082kg 10.00 m .
BERE BERE FHE sE 4
ERRBRE t=10cm 0.50 % 10. 00 5.00 m2 EHBRA t=10cm 0.70x10. 00 7.00 m2 B Bt T8 RERS
HpEaL s U— b | ook=BN/m2 | 0.50x0,05x 10.00 0.25 n3 H@Eas s y—k | ooks1oN/m2 | 0.70x0.05x 10,00 0.35 m3 T 9 i B WhsEEAEHT RS R
HEpR BH 0.05x 2x10. 00 1.00 m2 HEpR BH 0.05x2x 10. 00 1.00 m2 i ill 5 EI1ESHEMEET
BELAL 1:3 0.02x0. 30 10. 00 0.06 m3 BELAL 1:3 0.02x0.50 % 10. 00 0.10 m3 P AESE
HEBE 0.50 x 10. 00 5.00 m2 EEEE 0.70%10. 00 7.00 m2
MEES |2 10 # 6 %




EF

E X

BRI 0.5

S=1:250
F2EHEMEET
1 B =
e |
: | {
T ;
i & i
O A | S
\ T =
— :
—_—
g —
= O
fl m
S=1:100
+ I L1=B 40m A=3 8m2
+ T
5=1:20
FiE = 3.8+8.4 = 0.45m
1010

440

E2EEMTERET

BP+3.0

TR MRS 223008

S=1:20

417
300

& 0O #

S$=1:20
500
150 600 150
I\‘ h\
| E
BME 125 2 g
(600 < GO0M) %, 3 i
\\\ " i _
g —5
b= =
135 7
g8 ‘g8 007 CE
WA & & S I
| | P gy
2
=
g g
_
g
N 900 — =
150 600 150
339 !150
— 489
= [ |
1 570 150
o 3 )
o 2 /
R -—
L
=
3 | |
104 900 110
1100
F2SHIFIEET —stuE
RS & % "% HoE o EE ST
AR 0.5x8.40 =4.20 = 4.2 4.2 m3
2 R 0.3x8.40 =252 =25 2.5 3
B * 4225 =170 = 1.7 1.7 3
SRR | RMTES 3005 7.2 m
BERE
% # t=150m 1.10x1.10 =1.210 = 1.2 1.2 m2
&
8 # H 0.90x 0. 57 x 4+0. 60 x 0. 489 x 4+0. 30 X 0. 15X 6-0. 30 x 0. 30 x 4 =3.136 = 3.1 3.1 m2
B oavsy—r o ok=18N/m2 | 0.90x0.90x0.57-(0. 735 x 0. 735 x 0, 081+0. 60 x 0. 60x 0. 339+0. 30x 0. 30x0. 15x2) = 0,269 = 0.3 0.3 -
W @ BB T-25 (600x 60OFE 69.2kg) AL FEIRE 1.0 #
EEEBE 1.10x1.10 =1.210 = 1.2 1.2 m2

Ws & KXKEFM

T ¥ 4| SibEE BEMG (RW) EBEETE
e F TE ERES

THEEA | WbEEAGTH BS KN

Wi EISHIRERET

i R &SR

MEES |2 10 E 7 &




5.43

EIBHMEEERET ‘
L=9. 00m
\
j : |l \l
= n ] r r
_NO.2
GH=5.70
FH=5. 10
fl m X
S$=1:100
EOf
BRSO 4R R 300 R
L=2. 00m L=7. 00m

DL=5. 00 FHi=5| 06 1. 50%
+ I K
S=1:20
FHE = 5.6+9.9 = 0.5m
%
| —
o G
3
HERERIE 0.4
# R 0.3

4+ T 1=890m

h=5. Em2

EISTEEERET

NO. 1+19.4

& 0O #

440

S$=1:20
900
150 600 150
I\‘ h\
| g
A¥E 125 . "
] b [
(600 > G00R) \\\ g‘ P -
b i=]
= =l
2 g [
135 /
g2 788 o sl 8
R BR300 b B |
Erl | % B Py
bl
& i
£l 2 |
= o
]
900 — =
50 600 150
T [ T 949 150,
Er_ﬁ _____ 81 1099
P | 1180 150
i
= =
2g 3
l;u‘ 7
i £
L
R
g | |
104 900 110
1100
EISHMIERT ——
X% £ # ®nO® o A H & B
AR 0.4x9.90 =3.96 = 4.0 4.0 m3
2 R 0.3x9.90 =297 =30 3.0 3
B * 4.0-3.0 =1.00 = 1.0 1.0 3
SBiK | ARETAEZE300% 2.00+7. 00 =9.00 = 9.0 9.0 m
BERA
5| 2BH t=150m 1.10x1.10 Z1.210 = 1.2 1.2 m2
EEEH“E%O*” 2 # " H 0.90 1. 18X 4+0. 60 x 1. 099 x 4+0. 30X 0. 15X 9-0.30 x 0. 30x 6 =6.751 = 6.8 6.8 m2
pd
B == Bl avsy—+ ook=18N/m2 | 0.90x0.90x 1. 18-(0. 735x 0. 735 x 0. 081+0. 60 x 0. 60 0. 949+0. 30x 0. 30x0. 15x3) = 0.530 = 0.5 0.5 3
S$=1:20 W | B OB T-25 (600 60OR3 69, 2kg) UL FEIE 1.0 8
EERE 1.10%1.10 =1.210 = 1.2 1.2 m2
417
300
_BELSL
103
/
% \\"\.\
SNBSS = b
od 300 t0g 3 a'sk—]i;t_bmﬂ

Ws & KXKEFM

TOE 4| SRbEE EERK (KW EREEIE
e F e ERER

T. % fi 77 WHEEBRAEBT BS R

ik 4 EISHEMIERET

## R ERER

ME &S |2 10 E 8 5




{8220 %
Fra L O R
ozt
i o
\g!'gxuu\\\

T =072 -~
E0. 2116~

(B0 91 %085 e s

)// _//.;@. 43510

A (Eesa=n
(e s w

. 18x1. 43
/,"I'TQ 19067

s (i g0 26

S

e MR OR1R

S=1:250

® B (BHETR3Y) t=dom

BET () A B &) t=10cm

e
L
—
IESIETST]
(Eeo7xnz
(B st w0 T4
\ {@p, =i
7 390,73
(.08 0,377/ " 8 06 1 4B
o daxo o/ X 003
S[E B8 5] @& 1 SEwE 2 HiishE 3
® @ m 53] 1.2 ] E D& &] & @ & B B|E 2]E & W B B|E 2A]E & W
1 1.238400 18.15] 4.81 21.079000 .82 0.76 1.383200 .04 0.29 0.301600 @© [ e 1.1 19. 739300
1 1.995200 18.15] 4.81 12.144800 182 079 1437800 116 0.3 0.348000 @ | 11.41] 2.03 23. 162300
1 1. 623500 20,55 4.85 & 33.223800 715 0.20 0.230000 043 0.04 0.017200 & it 42.901600
2 3.724100 2055 4.84 ElE 166119000 177 0.9 1.628400 1.06] 0.37 0.392200 & & @m m 21. 450800
2 3450000 2053 4.84 99365200 & 16.61_m?2| 2.33] 0.91 2.120300 2.01] 0.34 0.683400 I 21.45_m2
3 4.064000 2053 4.85 99570500 2.54] 1.3 3.450400 373 1.6 6. 154500
4 4.326400 20.57] 4.85 9. 764500 2.68] 2.03 5. 440400 3.06] 1.48 4528300
7 24.078600 20.57] 4.86 99.970200 2.68] 1.25 3.350000 2.39] 0.7 1.744700
7 8634600 11.08] 4.49 49.749200 2.19] 1.43 3131700 2.38] 1.3 2.927400
6 21.511800 11.08] 446 49.416800 2.19] 0.6 1467300 & & 17.097800
3 1.324600 809 3.93 31.793700 188 1.2 2. 368800 & & m & 8 54890
2 4.424300 8.09] 3.08 24.917200 2.48] 1.03 2.554400 m @ 8.5 m?|
2 2.925000 9.62] 1.81 17.412200| 2.48] 0.28 0694400
1 1.881000 6.92] 1.3 9.203600 2.08] 1.02 2.121600
2 2. 628900 7.68] 1.37 10.795600) 7.00[ 1.54 10780000
1 1.213600 7.00[ 1.46 10.220000| 7.00] 1.78 12. 460000
5 2083000 7.46] 1.4 10.593200| 9.79] 1.80 17622000
5 7. 282800 9.10[ 2.06 18.746000) 1.77] 2.09 24.599300
5 6224400 393 2.05 8.056500 2 & 96844000
5 6968000 9.62 2.24 21.548800) & &t ®m m 48.42200
8.14] 1.07 8.709800 m 48.42_m2)
5.16] 2.6 13.158000|
310 1.48 4.583000
78] 047 0.836600
& &t | 1180 508900
& & ®m m 590. 25445
I 590.25 m?|

Ws & KXKEFM

T F 4 | 4H55E EERER (R EREEIS
e F TE EEER
T 4 WhEEBRAHT BE N
i 38 HEEERTE
i R ERER
ERE e S 10 E 9 2




EXREVNETIX

7 0 .
*E M| $=1:250
/ y l 579
4.89
KB 1 H=5_000 / \
H ‘&7
] 4 5.67
%8 — l 5.4 KBM.2 H=5. 571
H OEq o EDZDEY: T3 = S8
CEE m— &) 1 520 t=10cm  A=50. 3m2 H H 569 2
H B ' ~ [T [] |s ﬂ _)E T <
ole @3 f &2 (S g
- < Y
ggﬁ i e e e —5% £ i 52 ME F 5.62 =
o = - i
i H Co & # % \
g 3 498 o §« % 5.70
S =1 / < 5.43 5.42 L}j s
,755? fas  Jeo . oHoe 4T —ell.1 P e i ];"Jz —_— ——  — 93 _— N \
5
’:', a 4.37
BE 1 S —— b= : o
L= o
= 8 9 o
g 727 7L IR FZ2 7L IR
ai t=4cm  A=8. 6m2 t=4cm  A=47.3m2 .
i . I
N=1.0 e
F CRUBE U L T
\ 5.36 =3. 00m
CEIERIRE LT vHoy—b (E
o i EDZDEINNC 7))
avyY—r @EBHAY)
1 3 1l
AZURIFEERIE L T AREREIEL T ARUBEREERIE L T
S$=1:20 S$=1:20
180
300 e
5 o 1.
- BImEBE s=1:100 BTETR s=1:20
8
1 30 mRIovsRELT
& A=0.051m2 ‘ 6.80 ‘ T I —
r 20 | S EEREMMET  —ARE
TAIOY Y RELT _ )
A=0.103 m2 ES  2.60+2.00+3.60 = 8.20m EPZUEINNC T 1.167+0. 801+0. 560
avHY—F GEAY)  8.20x0.051 = 0.418 nd BRI L T 8 Sopy—t GEAY)
EE  15.00m A=2. 9m2
HIOwsy t= 2.720+14. 640
avHU—b GEBAY)  15.00x0.103 = 1.545m3 s BT / 77 ‘fL ZHTOv Y =150 -
g T FAT 7L MR t=4on  8.6+47.3
BEE%%EHSUE LT . \—' s ] 8 FRI7I 55.9%0.04
S=1:20 _ —_— - aAYy ) — HEHEER t=100m
avHU— R 50.3x0. 10
BEIEERIEL T 5 ERELT
S$=1:20 ' '
230 | \A=0.022m2 FIALHY—FEREELT 990
a0 g
S 4.30+4.30 = 8.60m
. - wAIOYY t=15en 6.80x0. 40 = 2720 m
avHy—k @EHAY)  8.60x0.02 = 0.189 nd R
o ” avyy—+ R 2.9%0.30+0.30%0.10x9.90 = 1.167 m3 ®a7 - FRELT
g
A=0. 040m2
EE 990
2V U— GABHAY)  9.90x0.040 = 0.396 m3
et
BREIGEEEERIE L T ORI GEES S | T
ZEPEEE
BIER s=1:100 BRER s-1:20 IR s=1:100 BEED s-1:100
CRUAIERE L T | o |
$=1:20 .00 ‘ ‘ WS
500 51, 6.90 200
i ™
8[ ‘ 2 H g
] g | k = =
o g
= A=0. 096m2 g
’ ZAIOvY t=15om 12.20x1.20 = 14.640 m2
i A=0. 170m2
A0. 1772 a5 U—k EE)  6.90x0.096+0.53x0.170+0.57x0.170/2 = 0.801 m3
EE  3.00m
AV y—k @BAY)  3.00x0.177 = 0.531 m3
280
330

_ BRI

$=1:20

1200
1150 900 150

1000

AV Y—+E

1.00

BIERT
1200
1150 900 15

1000

1.545+0. 396+0. 531+0. 418+0. 189+0. 120

1050

1.10%1.05%1.50-(1.00%1.00%0. 12+0.90x0.95%1.23) = 0.561 m3
1.00x1.00%0.12 =0.120 m3

=2.528 = 2.5 m3
=319 =32m
=17.360 = 17.4 m2
=55.90 = 55.9 m2

=2.236 = 2.2m3
=50.30 = 50.3 m2
=5.030 = 50m3

Wb E B KE®
L % 4 | SF0EE EERKR (R EREEIS
e F TE EEER
T o 77 Wb EBRARET BE R
[ i i 5 EXEEYNET
L R EHSR
%S |2 10 E 10 5




